AP MC problems for Chapter 4.1-4.4 Name 4&&‘6

IPR? ;’—Xcos UObb?\\
A) 6x°sin(x*)cos(x?) = 2lcos (xﬂ\ . L'%‘nh‘s)3 e
B) 6x?cos(x® _ R
T e e

@x sin(x 3)cos(xb

E) —Zsin(x3)cos(x3)

£ 2 An equation of the line tangent to the graph of y = cos(2x) at x :% is
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A 3. If x2+y? =25, what is the value of Zx); at the point (4,3)?
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B 4. What is the slope of the line tangent to the curve 3y?* —2x? \% 6-2xy at The point (3,2)?
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9. Let f be the function defined by f (x)=x*+x.If g(x)=f"(x) and g(2)=1, what is the
value of g’(Z)?

A) % B) 0) % D) 4 E) 13

1
7

F(0=3 4= 4 g'(2)=
™ 10. If f(x)=e(2/x),‘rhen f'(x)=

A) 2 Inx B) e*~) € e By -axe™

aNE e% 2
-2
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